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QUESTION 1

A function de nition:

A. cannot be placed among other code

B. may be placed anywhere inside the code after the rst invocation
C. must be placed before the rst invocation

Correct Answer: C

QUESTION 2

Consider the following code.

languages = [ 'English', 'Spanish', 'German']
more languages = [ 'English', 'Spanish', 'German']
extra languages = more languages

Which statement will print True to the monitor? (Choose two.)

A. print(languages == more_languages)

B. print(languages is more_languages)

C. print(more_languages is extra_languages)

D. print(languages is extra_languages)

Correct Answer: AC

QUESTION 3

The most important difference between integer and oating-point numbers lies in the fact that:
A. they are stored differently in the computer memory

B. they cannot be used simultaneously

C. integers cannot be literals, while oats can

Correct Answer: A

QUESTION 4
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What is the decimal value of the following binary number?
A.8

B. 4

C.12

D. 10

Correct Answer: D

QUESTION 5

What is the expected output of the following code?
data = €61, 2} )2
print(len(data[3:8]))

A. The code is erroneous.

B.6

C.5

D.4

Correct Answer: D

Latest PCEP-30-02 Dumps PCEP-30-02 Practice Test PCEP-30-02 Study Guide

Latest PCEP-30-02 Dumps | PCEP-30-02 Practice Test | PCEP-30-02 Study Guide 3/3


https://www.pass4itsure.com/pcep-30-02.html
https://www.pass4itsure.com/pcep-30-02.html
https://www.pass4itsure.com/pcep-30-02.html
http://www.tcpdf.org
https://www.pass4itsure.com/pcep-30-02.html
https://www.pass4itsure.com/pcep-30-02.html
https://www.pass4itsure.com/pcep-30-02.html

